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Thinking of Stress

Stress is said to be one of the leading causes of death in modern society.

When (A)people get stressed, their hearts work too hard, (B)leading to heart

attacks and other diseases. However, Kelly McGonigal, a psychologist in the
United States, (C)is trying to change the way people commonly see stress. She
says research shows that people with a lot of stress (D)are more likely to die
young but (E)only if they think stress is bad. In fact, (F)according to research
at the University of Wisconsin, this (1 ) stress is actually killing about

20,000 Americans every year.

In one experiment at Harvard University, researchers observed how
participants' hearts reacted to stress. At first, the participants' hearts beat faster
and became tighter. However, (G)once the participants (H)were told that stress
was a natural and good (l)response to a difficult situation, their hearts began

to react differently. Their hearts beat faster without becoming tight. The heart
(J)becoming tighter leads to heart disease and possibly death. ( 2 ), a
rapidly beating heart causes no damage.

McGonigal also says that (K)oxytocin, a chemical produced by the body

during stress, may (L)have a positive impact on the heart. While oxytocin (M)is

most known for its ability (N)to make people happier and more social, it also

(O)encourages the heart to relax during times of stress. In fact, studies have found
that it can even (P)help the heart recover from damage. This means that stress
can (3 ). McGonigal hopes people will learn that the way they think about
stress can improve their experience of it.

1. XZIZD->TEARO)»LER@IANLIDIZR S #EW L § D 2 iEN,

(1)  1rareidea about 2 modern cure for
3 negative view of 4 common cause of
(2) 1 Unfortunately 2 As aresult
3 In addition 4 On the other hand

(3) 1 be good for people’s health 2 be a problem for relationships
3 improve the quality of sleep 4 increase the heart’s speed
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2. FTHI|A) O XM A7 &,

3. TFTHHEB)IOWT, AT OB XDFaR % T S ¥ L,
Ak H AR

lead to O OlioLH 5

(#]X) Cultural differences lead to political conflicts.

lead Ato B A2BIZELL®A
A% B I TiEh TTK

(#1X) It is certain that he led the company to success.

(#1X) Shall I lead him to the station?

lead O to &3 OIlI~TAHZUZXE 5

(#1X) Curiosity led me to read books about contemporary history.
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5. FHID)>WT, RTOBXDARE TR S & L,

o 2PN
be likely to 7~ € 39 ~LTwvw, ~L %I~
be more likely to 7~ % 37 (L b~xT) ~LCTWw, ~LZ9HFE
be less likely to 7~ % 3 (R bbxT) ~Lic{ v, ~LZHichw

(BIX) 1oF eIz SAKREZ ) =,

(BIRX) 1L FHIIEEFTHEL ) IBEZIAr ) CFT v,

(Flx) FTEAYIZEE T 5 AL, L hBI2hh Dzl v,

6. TEBERE)PVT, ATORIXDFKE TR S & Lo

L 25 HASE
only if SV = as long as SV (&) SV T AR

(#1X) English can be very helpful as long as you live in English-speaking
countries.

7. FTHIBE)IPWT, AT OB XDFRE TR S Lo
35 A&k

according to O O (ff#R) 12Xk 5 X

(#] X ) According to the newspaper, a university student was arrested for
murder
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8. THIG)>WT, RTOBRIXDAERE TS L,

% A k%

&|3% once H2 T

(B1X) 1 7 »(ran)ld 4> T~ ¥ 7 (Persia) ¥ *F X /=,

#4639 once once SV =6 T, TWwoEA~T 5 ¥
2% A8

BIX) Wo AT AMERLEIL -6, RICRELL TIIR) 22
Ao

9. THEMH)IIOPWT, ATORXNDRRKRETRSE L,
X B Az
tell + |Aft that SV ANIZSVF5E9F )

Bl | (BIX) 72 SARBLRSNEELEYICT - 12,
X

BIX) AAICEMIZ L B 6 Wy 235 - /-,

tell + [A] +10 FEH Ali~3 21535
Bl | (BIX) I —7%2F ) Xk
X

I Jion 123 - 7=,

WIX) ZFEFEFICEI LWL I T bR,
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10. FHEHEMIZ2PW T, ATOFIXDFaR % B X ¢ X,

2 B ARZE

response to O O ¥ %R

(#]X) I’'m looking forward to the response to my interview article.

respond to O OICRICT %

(#]X) How did you respond to her rude question?

1. FTERQ)P2HL 52 L.

12. FHIEKNIIOWT, AT ORI XDFK %2 TR S & L,

% L9

%3, %3 (Fl#&] #%& L. 22043134 23— T
R A TR,

(#]X) Hippocrates, an ancient Greek physician, is known to a number of

medical students.

13. FTA&HRWLI>WT, AT OB XDFR 2 T S & Lo

Eo A A%

have a [ %3] impacton O | O IZ[MAFA | LB L 52 5%

(#1X) The tornado had an enormous economic impact on the region.
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14. FHIEMIZ2WT, AFTOBIXDFaR %2 TR 32 L,

R

B AZE

be known as O

O¥LTwmonTwn5s

(#]X) Hippocrates is known as the father of medicine.

be known to O

Ol TwW5b

(#]X) The name of the Prime Minister is known to everyone.

be known by O

Olzk->-THHE XN 3

(B X) A tree is known by its fruit. (2 ¥ b X)

15. FAHN)O to REAORAEL B2 L,

16. TEBERO)IZ2> W T, VAT OB XD FadK % Tk S & Lo

19
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2 N

encourage +|Al+to T~ 3

Az~ 2 1942

(#]X) His death has encouraged me to steadily pursue my ends.

discourage +|Al+ from %% 3

A

P~FTH502BwWrIsLEs

(#]X) To my surprise, the doctor discouraged him from driving a car.
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17. THHEP)IZ2WT, ATOBAI XD FEREFRE TR I E L,

%

0 ARz

help (to) 753

~T 50| KD

help [A] (to) R 3 o~ 2 012 t23-
Bl | (BIX) mEWEFiE-> TTY ) TT H
X
(#]X) I’'m always here to help you (to) do well in your classes.
help |A] with [EF ol +42 5
Bl | (BIX) ) — EOBFHALEFIm-o TSI AL,
X
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Sweet Treat

Chocolate, which is made from cocoa beans, is one of the world's best-
loved foods. Some chocolate manufacturers, however, are (F)warning that
there may be a major (G)shortage of chocolate in the near future. This is
because the world is now consuming more chocolate than (H)it can produce.
Moreover, (I)demand keeps increasing. In fact, the price of chocolate increased
(J)by over 60 percent between 2012 and 2014.

One reason for the chocolate shortage can (K)be seen as a good thing.
Chocolate is a luxury item, so most of it is consumed in wealthy countries.
However, with the strong economic growth of many developing countries over
the past two decades, demand for chocolate has risen. For example, the
development of a large middle class in China and India has (L)led to more
chocolate being consumed in these countries. Demand for chocolate has also
grown dramatically in South America. In this sense, the growing shortage of
chocolate can be seen as a sign (M)that the standard of living is rising around
the world.

Another reason, though, is more troubling. Today, about 70 percent of the
world's cocoa beans are produced in two West African countries, Ghana and
the Ivory Coast. Production in these countries, though, has been declining. This
is because there have been increasing periods of very dry weather caused by
climate change. Moreover, cocoa trees (N)are being threatened by various
diseases (O)that attack them. Because cocoa trees take a long time to grow and
produce beans, these diseased trees cannot be replaced easily.

Cocoa bean farmers have been responding by developing new kinds of
cocoa trees. These new kinds are stronger against disease and (P)produce more
beans than normal trees. However, progress is slow because of the time it
(Q)takes for each tree to grow. At the same time, demand for chocolate is rising,
so cocoa is becoming more and more valuable. Therefore, chocolate
manufacturers are investing more money in the industry (R)so that production
will increase in the future. By doing this, they hope to avoid cocoa shortages.
With luck, people around the world will continue to have access to (S)one of

their favorite foods.
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(A) What are chocolate manufacturers concerned about?
1 People prefer living a healthy life to eating sweets such as chocolate.

2 People will not want to buy chocolate any longer because it is too expensive.

3 They will have to increase the price of chocolate by 60 percent to cover costs.

4 They are not able to produce as much chocolate as people want to buy.
(B) The change in demand for chocolate shows that

1 the quality of life of people around the world is improving.

2 many people living in South America are now selling chocolate.

3 middle-class people are unlikely to buy large amounts of chocolate.

4 Chinese people are more interested in luxury goods than other people.

(C) Inthe area where the majority of cocoa beans come from,
1 climate change is helping to produce healthier cocoa trees.
2 it is taking longer than usual to grow new cocoa trees.
3 fewer beans are being produced because the weather is becoming drier.

4 beans are 70 percent smaller than beans grown in South America.

(D) In order to keep up with demand for chocolate,
1 manufacturers are looking for ways to make sweets that taste like chocolate.
2 manufacturers are spending more money on increasing production.
3 farmers are moving to new places to grow cheaper cocoa beans.

4 farmers are buying cocoa trees that can produce beans more quickly.

(E) Which of the following statements is true?
1 The number of diseases that threaten cocoa trees is decreasing.
2 Cocoa trees that can protect themselves against diseases are being developed.
3 People in China and India have stopped believing that chocolate is a luxury food.

4 Chocolate will probably become the world's best-loved food in the near future.
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(F) T&EFE)IZPWT, VATOB XD FR % TR 3 2 Lo

HiE A A%

warn ( |Al ) that SV A2 SV Fr#ELsg g

(#]X) A police officer warned me that there was a criminal on the run around here.

(#]X) Bryce warned me that Jakarta was nearly as dangerous a city as Mexico City.

warn (Al to RE 3 ANII~T B L) BEEEE]T S

(#]X) I warned him not to cooperate with the woman in her forties.

(G) TEA(G)IZ>PNWT, UTF ORI XDFZR Y 7K 2 TR S & L,

22 2 N2

shortage T

(#]X) Is there any way to fix the shortage of country doctors?

be short of O O»FEL T

BIX) 707+ =7 THRTREE,

(H) T&R2RH) 235 T 92 % %35 T,

() FHMUOHOXAE %L L,

11
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Q) TP NWT, ATORIXDFRE TR I L,

2 LA

by O Y D[£]1°0 ThHHZYEEAT

(#1X) Men outnumber women by approximately 8 per cent.

(#1X) The consumption tax was raised by 3 percent on April 1, 2014.

(#1X) Sales of CDs in the US dropped by 31.5% in the first half of 2015...

(BBC)

(#]) Iam older than Nanaka by 18 years.

(#1X) 1am taller than Nanaka by a head.

(K) T&IK)IZ2NT, AT ORI D FRE TR S ¥ &,

hE H Rz
see A as B, regard A as B, A2B¥aid
look on A as B, view A as B,
think of A as B

(#1X) Globalization has been seen by some as a threat to the security of all

states.
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(L) T&ERL)I2 T, AT ORIXDFR%E TR S & L,

% B A

lead to O OlioLH 5

(#]X) Cultural differences lead to political conflicts.

lead Ato B A%*BIZELLY A
A% BZTiEENTTL

(#1X) It is certain that he led the company to success.

(#1X) Shall I lead him to the station?

lead O to &3 OIlI~TAHZUZXE 5

(%) X)) Curiosity led me to read books about contemporary history.

(M) TR M) %3l 2 £ 1T,

(N) FERBR(N)IZ2 W T, VAT ORI D AR L R E TR S € Lo

3k LA

be 39 +being +3& £ 73 | RAETHOXIE

(#1X) What is my data being used for?

(FIX) RLIZEI VWS EEEILEDLN TV E2E2b 3T 2 TENN
i % 5 v, (#73F inform % F Vv C)

(O) THHO) D%+ E T,
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(P) THERP)Ic2WT, AT D % R2RE L,
FUNELY) LA SADKERE > TWS,

2 Z IR YEL L L WhE LAk,

TFUAE L YR UL LW OED)REHFHE > TWwW5,

Q) FTHA(Q) 2P\ T, AT OFIXE 7RE L,

19

Eo LA

It takes |¥F /| (for O) to R 3 (O 2%) ~F 5D 2FMs b 5

(BIX) %2 T DIC—8 0200 5.

(BIX) 20HFLLZ 50 1c—MEREL D 5 1, (get 2AVT)

(R) T&ER)IZPWT, ATOB XD AR E TR S 2 L,

3k Ak

so (that) SV SV¥ 5wz (A)

(#1X) Could you speak more slowly so that she can understand you?

, so (that) SV ~L RSV T 5 (EXR)

(#1X) 1 spent somewhere between 6-8 hours a day studying English, so (that) I’'m
second to none in it. X second tonone [ZE[FT]IZ 3% 5 & vy]
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(S) FHE(S) 2PV T, RFORIXDFaR Y K2 T X8 &,

S 3E LA
f"ﬁ/ﬁ%\} o s [——/)}
one of + [the +#G LED )LD 2

(#1X) One of the most interesting branches of politics, I think, is political

philosophy.

(BIX) #DH Xy D—213F v, (F3 color = Al V1)

(T) AR L,
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Smelling Fear

The sense of smell is an important tool for animals that live together in
groups. Dogs and wolves, for example, use smell to communicate with their
families and with other groups. In a similar way, smell is important for humans.
In fact, italso helpsus ( 1 ). Some scientists say that (A)without smell, we
would (B)have trouble recognizing family members and learning how to get
along in a group. This is because smell (C)is closely related to our memories.

Katherina Hauner, a researcher at Northwestern University in Chicago,
did an experiment to learn about smell, memories, and feelings—in particular,
fear. She showed participants a picture of a man while causing them pain.
( 2 ), (D)she had them smell roses. Later, when the people saw the picture
again or when they smelled roses, they became afraid. This is because they
remembered the smell, the picture, and the pain together as one memory.

Before beginning her experiment, Hauner had believed that there was a
way to use smells to help people (E)get rid of their fears. She knew that when
people see something that they are afraid of many times, (F)# 5 13 Z 1 2 2%
n % < % %.Inherexperiment, (D)Hauner had the participants sleep in a room
that smelled like roses. While the participants were sleeping, (G)the smell
caused them to remember the picture in their dreams many times. When they
woke up, they were less afraid of the picture. Hauner was (3 ). She hopes
doctors will use these results to develop treatments for fears in the future.

1. XZIZD->TEARO)»LER@IANLIDIZR S #EW L § D 2 iEN,

(1) 1 improve academic ability 2 develop social skills
3 reduce stress easily 4 forget pain quickly

(2) 1 With luck 2 For this reason
3 At the same time 4 By then

(3) 1 notable to help them 2 worried they might get hurt
3 not surprised by the results 4 ready to start new research
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2. FTHIBANOWT, RTOBIXDFaR %2 TRk S & Lo

Bk B
Without O (4 LO»%ithiy) UrRE*)
[ were not (4 LO»hholtebly] UREXR)
=1Ifit [had not been} for O

(#]X) Without your assistance, I wouldn’t pass the test.

= If it were not for your assistance, I wouldn’t pass the test.

(#1X) Without your assistance, I wouldn’t have passed the test.

= If it had not been for your assistance, I wouldn’t have passed the test.

3. THIB)IOWT, RTOBIXDAREFKE TR S L,

3k

A AZE

trouble
have | difficulty | + (in) + % 3
a hard time

~THEDILEFTT A

person.

BIX) I Z2DHFL EFE TIZEZ L0129 L 72, (get 3 AlW0)

(#1X) You’ll have difficulty persuading him to review today’s lesson; He’s such a lazy

(#15X) I had a hard time entering my first choice university.

18
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THEOC)IZ2PNWT, AT X DFaRE TR I H L,

19

e

0 AL

be related to O

O XBiE L TWwW5

(#]X) Explore careers related to your interests.

(#]X) The latter is most closely related to our work.

5. FTHEMD)>WT, ATFTOBIXDNDAERE TR S L,
Ak | A%
have +HAl+ B & & Et:N LT85 (Eik]

(Wf();ﬂifﬂil::'—‘?(coke)é TFoTH 6o/

have+

W

+ 8% %53

ki

E~LTE 69 (RIR]

(F1) SCHMATISA4 N 3 8 (Toyor) = $ A BIEL T 4 6 - £

6. THIE)IOPNWT, RTOBXDFRE TS & Lo
+ 3k A ARz
get rid of O (O I3 QUN K
remove O

(#]X) 1t’11 take ages to get rid of smoke smell.

(#1X) No handout is to be removed.

7.

Translate the underlined sentence marked (F) into English.
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8. THI:RG)Iz>WT, KTORIXDFRE TR I L,
Bk B R
cause O O%*t 7267

(#]X) The accident was caused by two leading factors.

cause O1 O2

Olic02% 7267

(#]X) Lack of sleep caused me a lot of stress.

cause O to 7~ 39

Olc~3x%5%

(#1X) Fear caused the subject to shade his eyes.
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Purifying Plants

During the 1970s, as oil prices (F)rose rapidly, the United States, like
many other countries, (G)had trouble producing energy cheaply. As the price
of fuel rose, people (H)looked for ways to reduce the amount of energy they
used on heating and cooling buildings. One way to do this was to make
buildings that (I)let very little air in or out. In winter, these buildings keep the
warm air from heaters inside for longer, and in summer, they do (J)the same
with the cool air from air conditioners. This greatly reduces the amount of
(K)money people spend on fuel.

Unfortunately, (L)though, these new buildings had an unexpected side
effect. Many modern materials, (M)such as plastic, release small amounts of
poisonous chemicals into the air. When air remains inside the buildings, the
amount of these poisons gradually increases, and people who work or live in
them begin to feel ill. This problem (N)is known as sick building syndrome.
One (O)solution to this problem, however, came from a surprising area—space
research.

NASA, the U.S. space agency, employed (P)a scientist named Bill

Wolverton to study ways to keep the air clean inside spaceships. Spaceships,
of course, cannot get air from outside because there is no air in space. In order
to study ways to keep the air in spaceships free from poisons released by
modem materials, Wolverton created the BioHome, a completely closed
building (Q)made entirely of artificial materials. When people entered the
building, they (R)would suffer from sore eyes and find it difficult to breathe.
To solve this problem, Wolverton (S)tried introducing various kinds of plants
into the BioHome. He found that most of them were effective at (T)helping to
clean the air.

(U)According to Wolverton's research, a plant can absorb chemicals
(L)through its leaves and then use them to feed itself. He wrote (\VV)a number
of books (W)explaining which plants are most effective against the various
chemicals (X)found in the air inside buildings. He also developed a new kind
of container for plants that makes them (Y)even more effective (Z)in removing

22
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poisons. Thanks to Wolverton's research, many buildings can save energy and
keep their air clean by using plants.

(A) Why did people start making buildings differently in the 1970s?
1 They were trying to reduce the amount of energy that was being used.
2 They were trying to make buildings that could have air conditioners in them.
3 They wanted to increase the amount of air getting in and out of the buildings.
4 They wanted to make homes warmer and more comfortable in the winter.

(B) Sick building syndrome is caused by
1 modern materials on which bacteria and other unhealthy things can grow.
2 materials releasing poisonous chemicals that get trapped in buildings.
3 a reduction in the amount of air available for people living in the building.
4 an increased number of people living and working together in the same space.

(C) Why did Bill Wolverton create the BioHome?
1 To provide a place for NASA to keep the plants that it will send to space.
2 To discover what types of poisons are created by artificial materials.
3 To learn more about the types of plants that can be grown in space.
4 To find ways to make the air in spaceships safe and clean.

(D) What was one result of Wolverton's research?
1 Wolverton reduced pollution by teaching people to use energy efficiently.
2 Wolverton developed plants that are more effective at removing poisons from the
air.
3 Wolverton wrote a book that recommends the safest building materials to use.
4 Wolverton created a container that helps plants reduce dangerous chemicals in
buildings.

(E) Which of the following statements is true?
1 Many buildings made of artificial materials have been rebuilt to prevent illness.
2 Plants are able to clean the air with their leaves while getting food for themselves.
3 The United States made a lot of money as a result of rising oil prices in the 1970s.
4 People doing space research commonly suffer from sore eyes and breathing
problems.

23
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(F) FHEE) IOV T, AT OB XDAREHZR 2 TR I8 Lo

e Ak
rise (a#%E) E»s, LR T3

(#1X) The sun rises in the east.

raise O M#3E]) O % LifFs, LFXES

FIX) F% L5,

(#1X) The consumption tax was raised by 3 percent on April 1, 2014.

(G) THIER(G)IZPW T, AT OBIXDFARYFRE TR I L,

2% A k%

~THEDILEFTT A

trouble
have | difficulty | + (in) + % 3
a hard time

(BIX) B3 ZDHEF L EFE TICRZ 501289 L 72, (get 2 AWT)

(#1X) You’ll have difficulty persuading him to review today’s lesson; He’s such a lazy

person.

(#]X) I had a hard time entering my first choice university.

(H) FEERH)IZ> T, AT OB XD AR E T S & Lo

% A k%

look for O O%*#%7

(PIX) EIIRBEL LALEZTEL WAL,

(FIX) BIRAT2HRL TV B ALEW?

24
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(1) FEHIEMIZ2PWT, AT OB DFR Y AR %2 TR S 2 Lo

19

2 | AR

let O in O%FicANnS
let O out O %2hch 7

(#]X) I can't let you in unless you have your student ID card.

(BIX) REIMch L T

Q) TEBO)I>NT, VATOR(R)D HREF0KE T S Lo

Rk LA
the + 7 23 Al © T8n/2Y] 2T 2v»TX 5,

the + %39

B THE & i
(#) the Japanese / the British
(%) the unemployed

(#1) We have to deal with the unexpected.

(#1) The following is to be filled in by the recommender.

(#1) the wounded / the deceased

25
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(K) T&IRK) 22 NT, AT ORIXDFR%E TR S ¥ &,

2 B AR3E

spend+A(2)+on+B#7) | A(2)% B(#)I<4E 9

(#1X) 1t’s not clear whether vegetarians spend less on food.

spend + O(&F fd]) + B & ] OF M) E~FT 5 2 X124

(#1X) 1 spent somewhere between 6-8 hours a day studying English, so (that) I'm

second to none in it. X second tonone [ZE[FT]IZH % & 2wy ]

(L) T&IL)IZ2NT, AT ORIXDFRE TR S & L,

i 25 HASE
through [Oru:] (&) [~%2i@ LT [~%4E-> T

(%1 %) 1 once met Tim through our mutual friend.

though [d00] (&3] Lo Ly
(Pefrdstsdl) [~7=2%)

(#1X) 1 didn’t feel like talking to Demi. As soon as I laid my eyes on her, though, I fell
in love.

(#1X) 1 dumped her, though I loved her.

(M) T M2 W T, AT OB XD AR 2 TR I & L,

=3 A ARZE

A such as B Bk )i A
%B 1 A 0 Bk

(BIX) BRI AN T FREEDL I L TN =Y 2 RS,
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(N) FE&EN)IZP T, ATORIXDFR Y AR E TR I E L,

19

2 B AR3E

be known as O OrxLTEwLNTWS

(#]X) Hippocrates is known as the father of medicine.

be known to O Ol TWwW5b

BIX) BERKED LRI LA LIZELNT WS,

be known by O Ollk-THHINS

BIX) A2tk h I ns, (ZrbX)

(O) TE&ARO)IZ2WT, ATORIX D3RR E TS ¥ L,

Eo B R

solution to O O D IR

(BIX) L2 IIZEROBEOBRERILRT,

(P) FEERP)IZPWT, ATOHIXDFaER %2 FAk S & Lo

e H AZE

~ 9o

A named B BYaZiFironrzA
Br=fiths A

(#1X) We arrived at an island named Ibiza.
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Q) FHHWQ)Izo T, ATFORIXDFRY AR E TR S E L,

15

19

E LA

be made of O MEAIER L e

(#1X) This ring is made of gold.

(FIX)iPad 12 7V I =7 A(aluminum)X° %7 7 A THEL N T 5,

BIX)Z DHITETITEONT WS,

be made from O | SR LM T 5

(#1X) Beer is made from hop.

#IX) F—RFILr oEon b,

BIX) RSO NETA R ) =Lt b5,
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(R) THARR)IZPWT, VATOBIXDFaIR L ;K32 Tk S 2 L,

o 3R
would BEODHE L ~L 3D

(#1X) My dad would often spend most of his money on alcohol.

(BIR) HFEBIARELIIISCFr v FFR—LELELDE,

would RAEIZBU ST [~F5 9 )

(#1X) There is a bar exam on Friday; she would be nervous.

(#1X) 1 guess your mom would tell you off for not wearing a tie.

(FX) ¥ x*—v v M(Charlotte)lIE> X XD T, # L1 KLrik-> b5
7o

wouldn’t WMEICBUTAEL ) LTE~L I LLhorz]

(#1X) 1warned him not to be late again, but he wouldn’t listen to me.

(#1X) 1repeatedly asked her out, but she wouldn’t even talk to me.
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(S) TS Ic>PWT, AT OB XDRKE TR IE L,

R

B AL

try +to 7~ 5€ 3

~LLH¥¥5%

BIX) REELICFHREEZZ I LAY, 20FR0 % h - 1,

try + ¥4 3

HLIc~LTA5

LHavLiedh -7,

(BIX) 2 LI LT SAFREZNT ALY, BLITY ) LTHREL

(T) TEHIPMI2NT, AT ORIXDRRYEFaRE TR S L,

S
~ OO

HAZE

help (to) 7~ 3
help @ (to) TNE 3]

~FT LDIRED
WNoi~3 5 01212 -

additional work...

(Bl X) mPEWE Fifm-> CITY ) TT A,

(#] X) Social media was meant to help us work smarter. So far it has only given us

(Business Review)

help |Al with {3

ANDWEFE E F45 )

BIX) ) —, EOBHEL FE-> T NI EAD,

(U) FEIRU)IZPWT, AT ORI XDFR 2 TRl S ¥ L,

E 2L
~ 9o

HAZE

according to O

O (fF#R) 12X b X

(#1X) According to the newspaper, an university student was arrested for murder.
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(V) TEEV)IZ2 T, AT ORIXDFRE TR S ¥ &,

Rk B AR
a (large) number of O 2% D0

(#1X) Hippocrates, an ancient Greek physician, is known to a number of medical

students.

(#]X) Japan exports a large number of cars to the U.S.

the number of O (ON2F 3

(#1X) China, one of the most populous nations, decided to end its policy to control the

number of children.

(W) TEER(W) D o3 & Z 1T,
(X) FT&EX) 0w 2 1T,

(Y) TEIY) 2T, AT ORI D RREFaRE TR S & L,

B LEA
much L D 72 R
far
< 4
alot + LB
even

BIX) LEIENEh T - xRy, (much % Fvw)

(] X) I’'m a lot richer than my sister.

B 7LD b F o v F G, (far W)

(#1X) I can make good students even better.
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(2) THHDI22P VT, ATOPIXDNDHERE TR I L,

e

e

on—+ %) % 3

=as soon as SV

BIX) RREBRICBIA T 523 CIs, BIIRLL 28D 2 L2107, (X2)

in+# %3

=when SV

(BI) BEBHESYLEIEIRTERIT-LICLTE XL 3w, (X2)
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19| GER2 M 2013 EEEH 3H &)
Local Money

As business becomes more international, it becomes difficult (F)for local
economies to protect themselves against economic problems in other places.
This is especially true when many different areas share the same type of
currency, such as the euro in Europe. If there is a big economic problem in one
place, this can make life difficult for everyone who uses the currency. (G)For
this reason, some local communities have recently started creating their own
local money that people can use to buy goods and services in that area.

Because a local currency can only be used in one small area, the money
stays there. (H)This can help local businesses and create more jobs, giving
people in the area more money to spend. It is often difficult for a local currency
to succeed, though, because it cannot be used outside of that region and few
stores in the community will accept it. One example of local money that has
worked is the Chiemgauer, which was started by a high school teacher named
Christian Gelleri in 2003 in the Rosenheim district of southern Germany.

Over 600 local businesses accept the Chiemgauer as payment, and it has
become very popular. One reason the Chiemgauer has been successful is
because it was well planned. Each Chiemgauer is worth one euro, but when
people buy it, 3 percent of the money goes to local charities. This gives people
another reason to support the money. Moreover, if businesses change the
money back to euros, a fee of 5 percent is collected by the bank. (I)This
encourages companies to keep the Chiemgauer and use it to buy their supplies
locally. This, (J)in turn, supports the local economy.

At the moment, the Chiemgauer is only used in a small part of
Rosenheim's economy. Gelleri believes that, eventually, the money will be
used in about 50 percent of it. The currency will never completely replace the
euro because big companies in Rosenheim need euros to purchase their
supplies from other places. (K)Using it will, though, make sure that people
spend a higher percentage of their money locally, which will help to protect
Rosenheim from big changes in the European economy.
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(A) Some areas are thinking about using their own local money
1 to avoid being affected by economic problems in other places.
2 to help the businesses in their own communities grow internationally.
3 because they want people visiting from elsewhere to buy more things.
4 because they have trouble selling their goods to countries in Europe.

(B) What is one benefit of using local currencies?
1 It helps to promote school programs in the local area.
2 It can lead to the creation of more jobs in the community.
3 It teaches children in the community how money works.
4 It allows people to buy things at a discount from stores in the region.

(C) When people buy the Chiemgauer,
1 a part of the money they pay is given to charities in the area.
2 the money they spend is used by the government to support the euro.
3 they are charged a fee of 5 percent that goes to local businesses.
4 they are given one week to spend their money in local shops.

(D) What does Christian Gelleri think will happen in Rosenheim in the future?
1 Big businesses will switch from the euro to the local currency.
2 The economy will grow so much that it will not need a local money.
3 Local people will no longer need to buy supplies from other areas.
4 The Chiemgauer will be used in about half of the local economy.

(E) Which of the following statements is true?
1 Using a currency such as the euro is important for protecting jobs.
2 Banks will not trade local money for major currencies.
3 Local currencies are often not accepted by businesses in a region.
4 The Chiemgauer is mainly used at German high schools.
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(F) FHEE) IOV T, AT OB XDAREHZR 2 TR I8 Lo

2 LA

for O to REZF D FRLEZE

(#]X) I was hoping for her to recall his name.

FIX) YOFHEL, —AIOEREIMORLFZL ZLIIARTRELIICED
nz, (It b5 ¥)

(G) F43R(G) + Ak L,

(H) this 80 & 212 LT, TAR3R(H) =R X,

() this 28 5 212 L T, TF&3R() 2 AK¥ L, 2L, Chiemgauer &% — 247
77*‘}:%563‘% = X_o

Q) THIDIZ2WT, ATORIX DA% Fk 3 & L,

H3E B AR

in turn Mgz, AE I

(#1X) He got divorced and, in turn, began to look for a new partner.

(K) T423R(K) 2 F22RE L, 12 L, Rosenheim 3w —X > /4 L k3T 5 2
o
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